Hollow Shaft Type Three-Phase 0.75 kW Non-Brake Type, Brake Type

B Specification Chart

) Brake
Number {Number Voltage Rated current | Rated revolution :
Output| of of Freq#sncy V A r/min Protection %%?Hgi Rating | Insulation Rated
phases | poles 50/60/60Hz 50/60/60Hz 50/60/60Hz Type | torqueof |Insulation
motor torque
Totally | Self
Three- 50/60/60 200/200/220 4.0/35/34 1440/1730/1740 . Non- | At least
0.79W ohase| 4 |(50/50/60/60) | (380/400/400/440)| (19/2.0/1.75/1.7) | (1436/1440/1730/1740) egggifﬁ (”j%”jﬁd) Contuns | CIaSS E ey itaon| 1508 | 026 B
Note 1: The values in parentheses under "Rated current” and "Rated revolution" are for 400 V class.
Note 2: The protective construction for the brake type is IP20.
.= £ | output shaft |Allowable output shaft torque
Motor | Actual (S % re\?olution o 4 llleriEals pliipy; Drawing number
Model number  |outputreduction 8 5| & r/min N-m |{kgf-m}| N-m |{kef-m} shaft O.H.L. of outline
0 |50 = i i
W e 122 8 [eonz [ eorz | sorkz 60Hz N lkgfj | dimensions
10 1710 150 180 428 { 44| 369 || 37 2920 { 298}
15 17156 100 120 608| { 62| 515 |{ B3 2920 { 298}
20 1/20 2| 75 90 788| { 80I| 667 || 68 3560 { 363} [ 1 |
25 1/25 60 72 94111 98| 794 |{ 81} 3560 { 636}
CSMRO075 1
30 1/30 50 60 108 | {1101 915 |{ 93 3960 { 404}
40 1740 375 45 141 { 1431 120 {122} 5320 { 543}
50 1/50 e8| 30 36 188 | { 17.1f| 143 { 146} 5320 { 543}
60 1/60 25 30 192 | { 1961 165 { 16.8} 5320 { 543}
40 1740 375 45 156 | { 1601 132 { 134 5320 { 543}
50 1/50 30 36 193 | {197} 163 { 16.6} 5320 { 543}
— 0.75 28
60 1/60 25 30 220 | { 2251| 186 { 19.0} 5320 { 543}
75 1/756 20 24 271 { 2771 229 { 23.3} 5320 { 543}
90 1/90 16.7 20 319 | {326 270 { 27.5} 9460 { 965}
100 1/100 15 18 352 | {359| 298 { 304} 9460 { 965}
HCMRO075 2|3 [ 4 ]
120 17120 12.5 15 382 | {3901 324 { 33.1} 9460 { 965}
150 17160 10 12 435 | { 444)| 39 { 404} 9460 { 965}
180 1/180 83 10 540 | { 5b2H| 460 { 470} 11810 {1205}
40 | 5 |
200 1/200 75 9 593 | { 605} | 505 { 515} 11810 {1205}
240 1/240 6.3 75 673 | { 687/| 576 { 588} 16680 {1702}
50 [ 6 |
- 300 1/300 5 6 815 | { 832 | 697 { 71.1} 16680 {1702}
E Note 1: The actual reduction ratio is shown as the reduction ratio.
o Note 2: The output shaft revolution rate is calculated by dividing the synchronous motor revolution rate by the reduction ratio. Calculate the
b actual output revolution rate from the motor's rated revolution rate.
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